Pythagorean Theorem Extended

Date:______________________________
1.
Determine whether the following triangles are right angled triangles:

a)  
[image: image1.wmf]ABC

D

 has sides a = 5.0 cm, b = 13.0 cm, c = 12.0 cm

b)  
[image: image2.wmf]MNP

D

 has sides m = 4.9 mm, n = 3.6 mm, p = 7.2 mm

c)  
[image: image3.wmf]TUV

D

 has sides t = 2.1 m, u = 7.5 m, v = 7.2 m

d)  
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D

 has sides g = 4.9 cm, h = 6.2 cm, i = 9.1 cm
e)  
[image: image5.wmf]PQR

D

 has sides p = 12.0 cm, q = 22.5 cm, r = 25.5 cm

2.

a)
A ladder is leaning against a wall so that the top of the ladder is at an elevation of 4.2 m and the foot of the ladder is 1.7 m from the base of the wall.  How long is the ladder?  (Include a sketch)

b) A 12 foot long ladder is leaning against a wall.  The top of the ladder has an elevation of 10 feet.  How far is the foot of the ladder from the base of the wall?

c) A 2 metre long ladder is leaning against a wall.  The foot of the ladder is 1 metre from the base of the wall.  What is the elevation of the top of the ladder?

d) A ladder is leaning against a wall so that the foot of the ladder is 1.6 m from the base of the wall, and the top of the ladder is at an elevation of 6.2 m.  How long is the ladder?
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